@ 2x(y +2) @ 4x(y-2) ® x(3y+2)
(@)4x(y +2) ® 4y(x+2)

~&B

x+y+2=A, x—-y-2=B=5IH
A?-B*>=(A+B)(A-B)
=(x+y+2+x-y-2)(x+y+2-x+y+2)
= 2x(2y +4) = 4x(y + 2)




2. (Bx+1)2-(2x-3)2=0Gx+a)(x+b) €™, a-b 2 T2

@5 @ -1 @—6 @ -10 ® -12

Bx+1+2x-3)3x+1-2x+3) = (5x—2)(x+4)
a=-2, b=4
La-b=-6




3.

(2a — 3b)? - (4a — 5b)? = 4(ma + nb)(b — pa) & W, mn - p °| G
ToFH?

O -11 @ 13 <§§>—13 @ 11 ® -2

B ~
2a—3b =X, 4a—-5b =Y 2 x| &olH
X2-y?=(X+Y)(X-Y)
= (2a — 3b + 4a — 5b)(2a — 3b — 4a + 5b)
= (6a — 8b)(-2a + 2b)
= 4(3a — 4b)(b - a)

.m=3, n=-4, p=1
mn—-p=-12-1=-13




4. x*>-(y®>-6y+9) & AFElstHA?

@ (x-y-5)(x—y+2) @ (x=y+5)(x—y+2)
® (x+y-3)(x-y-3) @ (x+y+3)(x—-y+3)
@ +y-3)(x-y+3)

x* = (- 6y+9)
=x"-(y-3)?
=(x+y-3)(x-y+3)
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ABED, BCFE ©|4 BD , N
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3
ﬁ’ﬁ:mﬂ@P’Q II \\
£ 44 9ol e o, A I NEIR (R VY
P(a), Q(b) °ll thotol, a? — b? ©] g FohH?

D 162 @-16v2 ® 20+ 162
@ 20-16V2 ® -20- 162

~&B

a=4-V2, b=4+ 2

a® —b* = (a+b)(a-Db)
=8x(-2V2)
=-16V2




6. x=-14+ V3<Y o, 4x2 +8x+4 2 S F5HH?

@ 10 @12 ® 13 @ 14 ® 15

B

x+1=+30]82

4x2 +8x+4 =4(x>+2x+1)
=4(x+1)2
= 4(V3)?
=12




: A uff, x2 + 3xy + y? o] 27

@ 3 @6 @9 @ 12 ® 15

1 V2-1
TVl (Rrn(V2-1) v2-1
1 V2+1
ey SRk e mryev R A
x% 4 3xy +y% = (x +v)% + xy ol A
x+y=(V2-1)+(V2+1)=2+2
w=(V2-1)(V2+1) =1
LEA) =+ Py =(2V2)2+1=9
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8. xyZtoed e LY o] zre9
Xy

®v: @V 022 @3vi Qv

B

_ 1 Bel
x_x/i—l_<xf2—1)(«/§+1)_\/§+1
1 V2-1

— V-1

TTNE1 T (V) (VR 1)
kA x+y=2V2,x-y=2,xy=10°]E%

2 -y (x+y)(E-y) —2V2x2=42
P xy




V225 - \/(—6)2+ \/(—3)2><24— \/5—2_(_\/3)2

=15-6+ /(3x2%)°~5-3
=9+12-8=13




10. A= (-v0) - (-v5) - V(-2)%, B= V& + (-¥2)" + /(-5)"x
(@) o W, 4B e FopE?

® -60 @ -48 @10 @ 48 ® 60

~&B

A=9-5-2=2

1
B:(8+2)+<5x5>:4+1:5

AB=2x5=10
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11. 506 = V¥ Var =3 A, a+b O & FSHAH?

@5 @10 ® 15 @ 20 ® 25

B

10" 10'? 100 o =
506 ~ 26x106 20 0 5% =0

312
3—4:‘/3_8:34,17:4

sa+b=10




12. 08 5 A4S 7ol o shis?

® VI00 - VI3
@ _\/42><32

@ VP
@- 5 + Ve

® (-v2) x (v3)" = (- Vi)

~&B

D V100 - V132 =10-13 = -3

V4 x 32 3
2 :—2X§:—3

Ty 5 _
® -+/(-5) X5 =3
@ -V52+ V6d=-5+8=3
5 (¥ ()" (-¥D) =3

@ -




13. [a, b, ] =(a-b)(a—c)F & W, [a, b, |- [b, a, | E UFEH5HH,
(xa+yb+zc)(pa+gb+rc) oItk ol W, x+y+z+p+qg+r Y

&e?

®-1 @3 @ @ 2 ® -2

B

(@=b)a=c)=(b-a)(b-c)
=(a-b)la-c)+(a-b)(b-c)

— (a-b){(a-c) + (b))
=(a-b)(a+b-2c)
LX+y+ztpt+gtr
=14+(-)+0+1+1+4(-2)=0




14. & B7] oA 26% — a®b - 3ab? &) Q1S RF VE

B
@ a © a-b © a+b
® 2a-b @ 2a+2b ® 2a-3b
D ©®,6 @ 6,6, ® 66
@)9, ®, ® ® 0,60

2a3 — a?b — 3ab?® = a(2a® - ab — 3b?)

= a(2a - 3b)(a + b)
Hetd 44t @, ©, © otk




15. x(y-a)-y+a & HIEA A5-Ealer 227

® (x+1)(y+a) @ (x+1)y-a) ® (x-1)(y+a)
@x-Dy-a)  © (1-x+y)

x(y—a)-y+a=x(y-a)-(y-a)
=x-1)(-a
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Q@ xy © x+y © x+2y
® 2x+3y @ x(x+2y) ® y(x+y)
ONGNC) )0, ®, @ ® 06,0 6
ONCRENG) ® 6,66

xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x + )}

= xy(x + 2y)




